ALL KERALA BHAVAN’S SCHOLARSHIP EXAMINATION
NOVEMBER 2023

Class: III Marks:100
Date: 28.11.2023 Time: 172 hrs
GENERAL INSTRUCTIONS:
'Read the instructions carefully before answering

1. Please fill up your Roll No. and class in the box provided on the OMR sheet.

2. This question booklet contains 50 questions and 5 Tie Breaker questions. All questions
including ‘Tie Breaker Questions’ are mandatory. Tie Breaker questions will be evaluated
only in case of a Tie.

3. Each question carries 2 marks.

4., Each question has 4 answer choices a,b,c,d.

5. For each question, select the best/correct option and darken the bubble completely against
the corresponding question in the OMR sheet provided.

6. Use a blue/black ball point pen to darken the bubble.

7. Darken only one bubble against each question.

8. There will be no negative marking.

Choose the correct answer from the options given:

e

10.

1.1
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Sahil can —— guitar very well

a. sing b. play c. dance d. swipe
Arrange the letters to form meaningful words NCESIEC’

a. Necessary b. Sceince ¢ Scemee d. Science
Which of these words is not a noun?

a. Girl b. Pull c. Grandfather d. Cat
Which word should replace him in the sentence? Him enjoys playing baseball.
a. Her b. We chHe d. Them

[ saw a of fish near the beach.

a. colony b. bunch c. school d. flock
An elephant

a. bleats b. trumpets c. neighs d. barks
A bee lives in a

‘a. hive b. web c. den d. burrow
The picked her son up from the school.

a. man b. women c. woman d. men

I walked the bridge.

a. near b. by C. across d. on
Rahul is sleeping. Don’t disturb

a. he b. him c. she d. her
Plural form of calf

a. calf b. calves c. cafes d. none of the above
Ten 50 paise coins is the same as how many rupees?

a. 5000 b.500 c. 50 d=s
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I have 6 faces, 8 corners and 12edges and my all sides are equal.
a. Cuboid b. Cube c. Cylinder d. Cone

A number machine takes any number put into it adds 20, then subtract 10, and then
adds 8. If the number 16 is put into the machine, what number comes out?

a. 34 b. 43 ciSb d. 24

In a clock, the long hand is at 5 and short hand is at 4. What is the time?
a. 4.25 b. 4.50 c. 4.05 d. 5.04
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[ am a 4-digit number

My ten’s place is the smallest even number
Hundred’s place is 3 more than ten’s place digit.
One’s place is 1 less than ten’s place digit
Thousand’s place is the greatest one digit number.

Who am I ?
931110} s b. 1310 c. 1521 d. 9521
16 x 3 =48, then 160 x 30 =
a. 480 b. 408 c. 4800
d. 4080
The sum of 2345 and the number formed by interchanging the digits in ten’s and

thousand’s place of 2345 is .
a. 4690 b. 4699 c. 6670 d.4770

Anjana had a note of Rs.50. She bought ice-cream. The shopkeeper returned Rs. 35.50
to her. How much did the ice-cream cost?

a. Rs.15.50 HNRS2:5550 c. Rs.10.50 d. Rs.14.50
What comes next

1800, 1750, 1700, 1650,

a.1700, 1650 b. 1600 1500 c. 1600, 1550 d. 1700, 1750

There were 965 hens in a poultry farm. Out of this, 123 hens died and 205 of them were
sold. How many hens are left in the farm?

a. 1047 b. 760 c. 637 d. 507
Snakes on the ground.
a. crawl b. slither Cc. run d. swim

The plant that has fibrous root is
a. rose b. hibiscus c. grass d. carrot

The imaginary line that divides Earth into two equal halves is called

a. Axis b. Equator c. Hemisphere d. Poles

Rani wants to make Chutney. Tell her leaves of which plants she should use —
a. Mint (pudina) b. Neem c. Rose d. Mango

Do you like UNINVITED GUESTS? Some animals live in our house uninvited. Help Ajay
to find which of the following animals are uninvited guests in our houses.

a. House fly b. cat c. dog d. pigeon
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of water vapour

Clouds are formed by

a. Globalization  b. Condensation c. Evaporation d. Vaporization
The animals which live on land and in water are called ————— animals.
a. aquatic b. reptiles c. amphibious d. None of these

The forelimbs of birds are modified as:

. a. Feathers b. Claws c. Beak d. None of these

Read the given statements

i) Cooking makes the food soft, tasty, easy to chew and digest
ii) Reheating food again and again restores nutrients in the food
iij) Eating junk foods very often can lead to health problems.
iv) Old and weak people need food which is hard and raw.
Which of these statements is/are incorrect?

a.1,2and 3only b.3and 4 only c.2and 4 only d. Only 3
Houses made on wooden poles are called .

a. Stilt house b. Tent c. Igloo d. Caravan
Deficiency of ———— causes anaemia

a. Calcium b. Magnesium c. Iron d. Potassium
Which of the following is a synthetic fibre?

a. Cotton b. Silk c. Nylon d. Jute
Which social networking platform is set to rename itself as “Meta”?

a. Orkut b. Snapchat c. Facebook d. Twitter
Which is the highest peak in the world? | :

a. Himalayas b. Kanjchenjunga c. Mount Everes d.Nangaparbat
On Which day India’s third moon mission Chandrayan III was launched?
a. July 14 b. August 24 c. July 4 d. June20.
Which planet is called Red Planet?

a. Jupiter b. Mercury c. Mars. d. Venus.

Name the author who created the famous series of book- Harry Potter?
a. William Shakespeare b . Charles Dickens. c. JK Rowling. d. Rudyard Kipling

Ashley has various shoes with different colours in her closet. How many shoes are there
in 10 pairs

a. 20 b. 10 C:'9 ds 2
Find the missing numbers in the series given below

7, OISO :
a. 14 bkl % c. 16 d.-15

A bus leaves its station every 15 minutes. The tenth bus leaves the station at 9am. What
time does the first bus leave the station?

a. 5:45am b. 6:45am c. 7:00am d. 6:00am
fA=1,C=3,thenF=?

a. 4 [OFtD ch 7 : d. 6

A Snail is weaker than a wolf. But snail is stronger than an ant. Who is the weakest?
a. Snail b. Ant c. Wolf. d. Fox.
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You are in a bus. The bus reaches your stop but still you have not purchased the ticket
because of heavy rush. What will you do?

a. Jumb out quickly to avoid embarrassment

b. Call the conductor, give him the money and get the ticket

c. Hand the money to someone sitting nearby to give it to the conductor

d. Give the money to the driver

If in the examination hall, you find that the question paper is too tough to be answered
satisfactorily by you, the best thing to do for you is to:

a. Tell the examiner that the questions are out of course

b. Provoke the candidates to walk out of the examination hall

c. Try to know something from your neighbour

d. Try to solve the questions as much as you know with a cool head.

You are playing with your friends; you suddenly saw an old man fainting. What would
you do?

a. Ignore him  b. Continue playing c¢. Laugh at him d. Call somebody for help

Your parents called you for dinner, you are watching your favourite television show
a. You ask them to wait till you finish watching the show

b. You pretend not to hear and continue watching the show

c. You get up at once and join them for dinner

d. None of these

49. Balu wants to go to the swimming pool from his house. If he took the longest route shown in the

50.

Sil

52.

Sre)

54.

595.

given figure, how many metres would he travel?

Supermarket

T o
T a. m
b. 1082m
c. 1,100m
d. 1174m

If banana is called felly’, jelly’ is called ‘blue’, ‘blue’ is called ‘green’, ‘green’ is called
‘mango’, then what is the colour of leaf?

a. Green b. Banana c. Mango d. Apple

* * * * *
TIE BREAKER

How many years are there in one Millennium?

a. 100 years b. 1000 years c.100000 years d. 10000 years

Which is the feminine gender of the word gentleman?

a. Lady b. Madam c. Principal d. Teacher

Braille is a system of printing for the ——

a. dumb b. deaf c. blind d. physically challenged people

It is 5:10 pm now. What time it 30 minutes ago .

a. 4:20pm b. 4:30pm c. 4:40pm . d. 5:40pm

Who invented the Computer?
a. Johannes Gutenberg b. Charles Babbage c. TheWright Brothers d. Mark Zuckerberg
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